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@ 1.5cm @)2cm ® 2.5cm

@ 3cm ® 3.5cm




72. o= 2HNA x & olE?

@ 2 @2.5 B 2.6
@ 2.8 ® 3

AB:AC=BD:DC=6:5=3:x..x=25




73. 3 I"A M I+ aABC o] WAoltt, A
x 9] 4ol & totoizt, 15c@ “12cm
/7 [ Y

/ \
C

- - v
~~z--"D~9cm

R
D

b cCk cm
> == 475 cm

A 17 Aol B2 AD & /A 9] o]5EAolrt,
~AB:AC =BD: CD
15:12=x:9, 12x =135

— 45

~x=BD= Z(Cm)




74. S 183 & AABC oA /BAD = /CAD,AD//BE ¥ W, x, y
o] 3t oot

> =
> &
> HE x=6
> 3AE: y=5

B ~

AD £ AABE 9] 9]7}t9] o] 52 40]|E& /DAB = /ABE ©|t}.
w2}A /DAC = /BEA ©]1l AABE & o] 5HAFztg o]t}
w2t x =6 9], AB:AC=BD:DCO|PEE3:5=3:y
o|tt.

webA] y = 5 ot}




75.

T Z1olA AD /ECE W, x +y o] ¥

©9

@14 @ 13 ® 12
@ 11 ® 10

AB:AC=BD:DC°|BE2 12:8=9: x .~
E:EZE:D_CO]E_EH:)I:Q:G.'.
Lx+y=64+8=14




76.

o2 21893 22 AABC o A
/BAD = /CAD©°]1 AD//BE¥ o,
BD 9] Zo]& atofzt

AD//BE°|E2

/BAD = /ABE(917})

LCAD = /AEB(&97%)
o

7}
w}2tA] LABE = /AEB©] 22 AABE &= o] 5HAZ %

ofl

AB = AE = 14(cm)
AABCOA /BAD = /CAD |2 &2
AB:AC=BD:CD
14:6=BD:5

— 35

.. BD = E(cm)

olt.




7T.

th-2 1A AD 7} /A 9] o] 5EA
3, AABC = 77cm? € ], AABD 9] 4

19

® 38cm? @ 40cm? (@)42c1rn2
@ 43cm? ® 44cm?

AABD €} AACD 9] WH 9] Ao]o] H|=
18:15 =6:5 0|1 =ol= Az Zrouz Holo H|Z 6: 5
oltth, MA| Yol7t 77 o| B2 AABD 9] Y o] 42cm? o]t}




78. thE 1o A AD & /BAC 9] o]5EBXAo|1, AB =9, AC =6
o|t}. AABD 9] Ho]& a 2t & uff, AADC 9] HolE a °f Tot
e H?

BD:DC=9:6=3:2°]E2 AABD: AADC =3:2
a: AADC=3:2

2
. AADC = §a




79. v O™ Zo] /BAD = /CAD = 45° & o, AABD ¢] Y o]=?

O 80cm? @ 90cm? ® 40cm?
75
C@)45cm2 ® ?cm2

~&B ~

_ 1
AABC = 7ol B2 AABC = 15 x 10 X 5= 75(cm?)

o},
AB:AC=BD:DC=3:20EB&
AABD : AADC =3:2

. AABD = gAABC = g X 75 = 45( cm?)




80.

O 4 @ 6 ®)10 @ 14 ® 20

6:4=(x+3):x

6x =4x + 12

Lx=6

6:y=12:8

Ly=4

kA x+y =6+4 = 10°]tt.




81. oS 183} -2 AABC oA /BAD = /CAD, /CAE = /FAE o] 1,
AB = 9cm, BC = 8cm, AC = 3cm € 1}, DE 9] Zo]E F35lofat.

> & 6cm

AABC A 425 o] Wiz}9] o] 52419 Aol o)
AB:AC=BD:CD

9:3=(8-CD):CD

- CD = 2cm

E, 44213 9lzte] ol 5EAe) Felo] o3
AB:AC=BE:CE

9:3=(8+CE):CE

.. CE = 4cm

w2 DE = CD + CE = 2 4 4 = 6(cm) ©]t},




